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Probă scrisă 

 
BAREM DE EVALUARE ȘI DE NOTARE 

 

• Se punctează oricare alte modalităţi de rezolvare corectă a cerinţelor.  

• Nu se acordă puncte din oficiu. 
 

I. Read the following text and put the verbs in brackets in the correct form.        10 points 
10 x 1p = 10 points 
 
1. has been; 2. goes; 3. will remain; 4. would become; 5. were spent; 6. taken; 7. had had;  
8 making; 9. would not have come; 10. ended. 

 
II. Use the word given in brackets to form a word that fits in each sentence.      10 points 
10 x 1p = 10 points 
 
1. historically; 2. immemorial; 3. basic; 4. intended; 5. variety; 6. Consequently; 7. accessibility; 
8. requirements; 9. certainly; 10. disposable. 
 
III. Read the following text and decide which answer A, B, C or D best fits in each gap.  

10 points 
10 x 1p = 10 points 
 
1B, 2C, 3A, 4A, 5C, 6B, 7D, 8A, 9C, 10B 
 
IV. Translate into English.        10 points 

grammar structures    4 points 
vocabulary     4 points 
fluency      2 points 
 
He wished nothing had happened. Once again, he felt that there were certain things which/that 
could never happen, no matter how simple (they might have been) …It would have been so 
easy to be Marcela’s friend. Who knows, it could/might/would have been too much all of a 
sudden. He was a bit surprised. How could somebody who was Marcella’s brother still be 
interested in such strange and insignificant things? Only somebody who would/might have 
narrated a novel instead of telling him every detail of her childhood and her memories, what 
streets she used to/would play on, what gardens she used to/would wander through…   


